P MEEERPFEFHN—BX (k%)
SHAE2R20HBE CK THREBMET)
O R - TTRE

- = - R EZIT o7

RETE (A) WERRHH TETRE HhRRE B D= TR
A = 30m 9,000 14,0001 15,000/ 14,000
30m < A = 100m 15,000 17,0004 18,0004 17,000/
100n < A = 200m 22,000MH 23,000MH 25,000 22,000/
200m < A = 500m 29,000 31,000MH 33,000MH 30,000
500m < A = 1,000t 51,000M 52,0004 55,0004 50,000
1,000m < A = 2,000 72,000/ 70,000/ 74,000/ 66,000
2,000n < A = 10,000nt 209,000 166,000 165,000 161,000
10,000 < A = 50,000m 353,000/ 268,000 268,000 263,000
50,000nt < A 683,000 528,000 551,000 523,000
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X 4 e sk ETRE
BEHE (FRE) 13,000/ 20,000/
N R R 6,000/ 13,000
T{E® 11,000/ 13,000
OFfr] - REHF
REFMEORMZZT2R1CEB T2 EEYEDORERREDRBFICHT 2EE 136,000/
BEYOHBM L ERKE OBROBREXREORBICT T 28E (RI3KFE2EFISHE) 31,000
BEY OB & B E OBROBEFAORBICHT 2EE (R43KFE2EF2SHA) 37,000
BHROMEDEE (BE - ELL) OBRFBIINT2EE 50,000
IREZIREY DREFRIORFICH T 2EFE 136,000/
ORBERFZEORE (—FECOERETECELELBPRREOEESL LBWVEER)
B EEHRMMEEOHREN H 255 16,400
sran HEHERURETMEORFAEZIFTWBHE 16,400/
(RIEREEETHIEDTHOH DL D)
R DIGE 56,500M
s BEEHRMMEEOHREN H 255 22,300MH
R DIGE 82,400M
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300m = A < 2,000 176,800/ 45,800H 445,500H 52,200H
2,000m = A = 5,000t 286,100H 115,300 635,600H 123,400
5,000m = A = 10,000 373,500H 173,600 782,900H 182,500
10,000m = A = 25,000 448,700 215,700MH 925,300MH 225,400H
25,000m = A 526,400H 267,500H 1,055,600H 278,800H
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